MPM2D Mr. fark Determine the “a” value in factored form
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. Recall: Find the equation of a line with a slope of@passmg through the point (2, —1).
, y;
Linene e Y=mA+b m

Y= -4 +b « (2,
= = =4 (D) +b |
A= -84 b o b= 2= 0 BT 4+

Example 1 Determine the factored form of an equation that hasg zeros at (3,0) and

(12, 0) passing through the point (4 -2) or A intercepes
Factored Form ¢ Y= a (L—r) (A ”S) Twlen =4 Y= -
= o (2x—12) (A —3) - oa=-+
Sub =4 gad V= -2 2R 4

—2= QA (4-12) (4-3)
—2=0-(=-8)-(1)
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Example 2 The Dufferin Gate is a parabolic arch that is approximately(20 m tall\and
approximately(22 m wide:

. CO0rN {,“’ & —t
= Distanwt lae“rb\/%e,.,, Wo = coordinetes ,ér D/('\(\k e Ve .
a) Sketch a graph of the arch with the left base located on thm
left §3f the y-axis. Label the x- intercepts and ve;‘tex and the equatlon &
...(11 :
: X —
To '(3:1\(,! AL OOOWB-M-Q“’P ] A laterupt =
s &
vecrtox o add two e 0)
A inteccepts I Thea
divide 2
i (18,0)
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b) Determine an equation to model the arch

Factorel Foem : 3= 0 (1-v) (;1-3> — o= 20 r(
£S5 r=-4 ond S= 18 Vi 3 2|
M=o (At+4)(L—18) <« sub (7,20 = —20 . _pifs
20 = o (1+4) (1-18) B
20 = a 1) (=1 - T = W""‘*) (2

20= — 21 —
Review: Find the x-intercepts and vertex for the following equatlons in factored form
1) y=-02(x—-4)(x+10 i ) '
il — r= 5=

a— N
¥ A coordunte of verteqy

= 4+ (Ao _ :ié;;”=§=~>5m£1—,.3

| :. Two A fe ccepfs a
(4,0) oaad (“7!0,@)

Z_ - z N
into 63,
M = -0.2(—-3—4%) (—3+10) | (
fé“‘-’oz(fﬂ (1) = 9% svectr = (=3,9.8)

| 2) y=@+35)(x-35 —> =]
A +3.5=0 A—3.5=0

* Two Linferpts are (3.5,0) o
A= =35 A= 3.5

0)
¥ X coordinete of veCtox

3.5 + (-35) - O 7 M= 35 x(e35)
.
e ¥= —(2.25
S Verfox = (o, —12.25)

¥sub X=0 — é?,w‘ :
M = (0+3.5) (0-35)

Homework: Worksheet #7i(do others for more practice), 8,9, 12

Thinking practice: A point lies 2 units above the x-axis on the axis of symmetry of the

parabola with equation y = (x + 4)(x — 6). How far is it from this point to the point on
the curve where x = 57 '



